LA FEREREEIE AR MIBSE Rk

20194 7H 1H ~ 20202 6H 30H T
(BH2: H)
£ H & X
I BEI S
1. TR
EEBX et 73,000
73,000
2. ZWMFME
= R4 887,831
887,831
3. ZRBIRESE
= B R Bh k4 3,362,998
3,362,998
4, FHENE
WHEF IS 60,000
FHINA 22,980
82,980
5. ZFOMINIE
= IR 23
23
ATy 4,406,832
0 REEA
1. F¥EE
(V) N
5T 500,000
NFE & 500,000
(2) 2 DR E
F Rl S Ay 138,366
R 0
WHE# 141,008
ey 70,000
A 70,000
- Gk = 1,749,053
THEEM 2 606,196
for 3 1 11,994
HEE 111,713
IS B 300,000
FHBLAGE 0
¢ 11,906
MEE 85,161
ZOMARE S 3,295,397
FEEG 3,795,397
2. BHE
() A%
e5FY 164,180
N & 164,180
BTEEG 164,180
REBRAR 3,959,577
X 1 (E DR PE AR 447,255
A HA AR I R o B4R 383,549
TR EA AR TE DR A PE AR 830,804




